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T HIe [Co(NH;), Cl,] CIgRT it
H AgNO, § ra8ifia AgCl % o] &
e 8

(1) 0 ) 1
(3) 2 ) 3
Trferiea o & i w1 m wEeRERTES £ 2

(1) XeF,, ICL,
(3) PCls, ICI

(2) NH,, BF,
(4) SO5,Coz

T3S o Gay T 379 HUA 3

(1) 78 T STstfeshan § |

(2) SHHI AT FAC R |

(3) 3U% TR U K HEHAT
ATy g g1 vy fepe e 2 |

(4) 3% 3TV ek § 1w o s
% THU TR 219 § |

frafdfas = @ g% ST
THTEgET Yefifa & S g ?

(D) [Pt(NH3)2C32]

(2) [Ni(CO),]

(3) [Co(NH;);(NO,),]

(4) [CoCly(en),]

[Pt(NH,),] [PtC/,] 1 5&l IUPAC A1 &

(1) TR (11) SeareieTs
4y

(2) TRHAAEH (11) FTeiiEife
(IT)

(3) A (IT) SgraaRIi e (I1)

(4) EUHARIRAE (1) Sgealieifee (11)

fafesa 3aiws frafafaa fea arg =1
IUFEEISH s 2 2

(1) Ru (2) Rh

(3) Pd (4) Pt

th

2

o TSRS 4583 s S e T

N

The number of moles of AgC/
precipitated by 1 mole of
[Co(NH,), C,]CI with excess AgNO; is
(1) 0 2) 1
3) 2 4) 3

Which of the following pair is
isostructural ?

(1) XeF,, ICI,
(3) PCI, ICI,

(2) NH,, BF,
(4) SO7, co¥

The incorrect statement about

dioxygen is

(1) itis a biradical.

(2) its bond order is two.

(3) its magnetic character has been
explained by valency bond theory.

(4) its molecular orbital has two last
electrons with parallel spins.

Which of the following complex does
not show geometric isomerism ?

(1) [Pt(NH,),CL,]
(2) [Ni(CO),]

(3) [Co(NH;);(NO),]
(4) [CoCly(en),]

The correct IUPAC nal;qe of
[Pt(NH3)4] [PtCz’4] is

(1) Tetramine platinate (1) Tetrachloro
platinum (II).

(2) Tetramine platinum (II) Tetrachlorido
platinate (II).

(3) Tetramine platinum (II) Tetrachloro
platinum (II).

(4) Tetramine platinate (II) Tetrachloro
platinate (II).

Wilkinson catalyst is a co-ordination
compound of which of the following
metal ?

(1) Ru (2) Rh

(3) Pd (4) Pt
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frefefag § & ©F o1 g 9w 3 |
F fuads HoE g 2

(1) Mn (2) Mo
(3) Mg 4) W
. TEwEEHE wpel [Co(NH,;),Br,]Cl

ot guTEgear e 8 ¢
(1) S T 3R
(2) Faet sATHdE

(3) U T, 3T,
(4) Hael THEIE

g o, S VIS e 8

(1) TifEH (2) aifem

(3) LFwm (4) i
fr=faRea § & ®F w1 G STIIEEh
SIIER AT 3 ? |
(1) [CoFg]* (2) [Co(NH,)s)**
(3) [Ni(CN), > (4 [Co(C,0,)51*"

e TR FEICTEE K, [Fe(CN)4]
fifa FeCl, o |11 EaTg STl & al et
1 fpe Heped % S o YT AT 8 7
(1) Fe, [Fe(CN)gl4

(2) Fell [Fe!' (CN)I

(3) Fe'll [Fe!ll (CN),]

(4) Fell [Fe!l (CN)(]*

seffaRaa S-damgel o i ar wefiwifa
T +4 FTerefiertor aTereen Teiia wiar &
3 5w 1w Avaiiies Iifiree 8 ?
(1) Eu (2) Ce

(3) Yb (4) Nd

RNA @H DNA feter 3 €, 3
fpterar e o | % :

(1) L-IehU 3739

(2) Tt e

(3) FeRie wiehe TR ThIEAT -

(4) D-Ih0 3T

]

10.

11.

12.

13.

““Which of

the following act as
promoter for iron in Haber’s process ?
(1) Mn (2) Mo
(3) Mg 4 W

Octahedral complex [Co(NH,),Br,]C/
exhibit which kind of isomerism ?

(1) Linkage and ionisation

(2) Geometrical only

(3) Geometrical and ionisation

(4) Optical only

An element, which is not an actinide, is
(1) Actinium (2) Thorium
(3) Uranium (4) Neptunium

The complex showing paramagnetic
behaviour is

(1) [CoFg]*~
(3) [Ni(CN),I*

(2) [Co(NH,)¢*
4) [C 0(C304)3]3_

When potassium ferrocyanide
K,[Fe(CN),] 1s treated with FeCl;,

blue colour is obtainéd due to the
formation of

(1) Fe, [Fe(CN)gls

(2) Fel [Fe" (CN),]-

(3) Felll [Fe!l (CN)]

(4) Fell [Fell (CN)]*

Which of the following lanthanides
exhibits a well known +4 oxidation
state, which is a good analytical reagent ?
(1) Eu (2) Ce

(3) Yb (4) Nd

RNA and DNA are chiral molecules,

" the chirality in them is due to

(1) L-sugar component

(2) Chiral bases.

(3) Chiral phosphate ester units
(4) D-sugar component
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frefefea & & a9 @ v s
FIH @ HFHATR 7
(1) C6H5CH2(‘3H—COOH

N=CH,

(2) (CHy),~-CH - CH, - COOH
| 11: 2O

\CH;

3) CH;CH,CH ~ COOH
NH,
(4) ?Hz -ﬁ:_CHf(”:—OH
CcHO ©

e 1 fefiRes % @y m e w

T e R

(1) whifes st § S greefeli o
e

(2) iR & s S

(3) T TR 377t
(4) e frpds

o-D — RIS TIH B-D — 7RISt F ATy
forsror =1 farfire epfa 2

(1) +19° (2) +111°

(3) +112° (4) +52.7°

e i a7t i arfamd 72 -
(1) fowrha 2) TR
(3) mEEw (4) I

I H 99 W HNO, F @y

T 8, T e 1 T g 2, 39 e
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(1) FreEmfe wem
(2) SiFIfes wem
(3) wTEYLe wierr
(4) Torere whegor
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16.

17.

18.

Which of the following can exist as a
Zwitter ion ?

(1) C4HsCH,CH-COOH
|

N=CH,
@) (CH;), = (i?H - CH, - COOH
N,fCH3
\CH;
(3) CHCH,CH - COOH
NH,
@) ?Hz ~C~CH,~C-OH

Il
CHO © O

Osazone is formed when glucose is
heated with

(1) Excess phenyl hydrazine in acetic
acid.

(2) Excess Bromine water.

(3) Concentrated sulphuric acid.

(4) Tollen’s reagent.

The specific rotation of equilibrium
mixture of a-D — glucose and B-D-
glucose is
(1) +19°
(3) +112°

(2) +111°

(4). +52.7°
Which of the following amino acids is
not essential ?

(1) Tryptophan
(3) Lysine

(2) Tyrosine

(4) Valine
Proteins when heated with conc.
HNO; give yellow colour, the test is
called

(1) Ninhydrin test

(2) Xanthoproteic test

(3) Biuret test

(4) Millon’s test
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fr=fafaa fra aferds & arfisean,
T H e g 1 gl R 2
(1) HI

(2) NH,OH

(3) uHifes TETEEES
4) H,0

9% pH T T 9IER 310 W et it
Fra T T 8

(1) wafewE fag

(2) SEEHIHTT pH

(3) <A pH

(4) @™ pH

arenferied wéH

() Tt Y RIRLSE
(iif) $ge (iv) Tegfir

F Miferwma NEHA 8 -

(1) H3MGE) @ (i) AV
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(1) aefieh et T Te-EeEd -
T T hY EET B § |

(2) A T THU TH HEHS TG TN
SR Ed # |

(3) RNA ¥ da-weefia — I T
D-UEEE Bt B |

(4) DNAH Ul gRH B 2 |

19.

20.
21.

22.
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|
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|
)
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Glucose and mannose are
(2) Diasaccharides
(4). Anomers

(1) Epimers
(3) Ketohexoses

Reaction with which of the following

reagents indicate the presence of
carbonyl group in glucose ?

(1) HI

(2) NH,OH

(3) Acetic anhydride

(4) H,0

The pH at which there is no net charge
on the protein molecules is

(1) Isoelectric point
(2) Neutrilization pH
(3) Acidic pH
(4) Basic pH

Among the proteins,
(1) Keratin (ii) Myosin

(iv) Albumins
the globular proteins are

(1) (i) and (i1) (2) (iii) and (iv)
(3) (i)and(iv): (4) (i)and (iv)

(iii) Insulin

Regarding nucleic  acids false

statement is

(1) Nucleic acids are chains of five-
membered-ring sugars.

(2) These ring-sugars are linked by a
phosphate group.

(3) In RNA, the five-membered-ring
sugar is D-ribose.

(4) There are five bases in DNA.
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28.

frfofea & & #F @1 Wifes e

TR ?

3) A

4 |

(I) OH®>CH,=CH®>CH =C°>
C,H,®

(2) OH®>CH=C®> C2H5@ > CH2 -

CH®

CH = C®> C,H,®> CH, = CH®>

OH®

(4). C;H®> CH, = CH®> CH = C°>
OH®

3)

l
i
H
1
i
!
|
i
!

24

25.

26.

27.

28.

Which “of 'the following is not an
aromatic compound ?

NH>
(1) [I . ]l (2) @

3) A 4) [ g ”

Reimer — Tiemann reaction involves a
(1) Carbonium ion intermediate.

(2) Carbanion intermediate.

(3) Carbene intermediate.

(4) Free radical intermediate.

According to Huckel’s rule, number of
n-electrons in Anthracene

(1) 10 2) 12

3) 14 (4) 20

Which one of the following will be
easily attacked by an electrophile ?

Nogios
T 0@

CH;

3) 4

Select the correct order of basic nature
of the following :

(1) OH®>CH, =CH®>CH =C® >
C2H59
(2) OH®°>CH=C®>C,H,°> CH, =
CH®
CH = C°> C,H,°> CH, = CH®>
OHe
C,H;®> CH, = CH®> CH = C°>
OHe

®
4)

16
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AR BT 2 2
(1) R qoih (2) HEEARA
(3) IR (4) HTEH

UF THIN AiRd ShATRRE  ThHIATH
e TireT gR e 31 8

(1) Tomma = fefRm (Ffaumon)

(2) ¥Ehfires 3aTg

(3) fermame 1 FehAv

(4) IS IITG &) Al

frfofied g geihl § @ BE @
T TR 8 ?

CH,
(1) CH3—(IZH*(CH*CH3

(2) CH;-CH,—CH-CH;

g, G
(3) CH,— CH- CH - CH-CH;
CH,

g
(4) CH,— CH- CH - CH,CH;

frmfefaa o @ A @1 TR gl
27
(1) BF, () IJ{IOE
(3) (CH,),N 4) CI
Sr=faiaa sifufa w1 gea 3R 2 :
Yot
CH3—CH2—CH2—(§-I—CH3W?
I

(1) CH3—(:Hz—CH:,_—ﬁ:H-CH3

OH

(2) CH,-CH,-CH,-CH=CH,
(3) CH, - CH,—-CH, - CH,~ CH,0H
(4) CH,-CH,—CH=CH - CH,

{
*

et iy S eminAALAY o} TS Th b TSt b S s —t

29,

31.

32.

33.

Halogenation of alkane
through which of the
intermediate ?

(1) Free radical
(3) Carbanion

proceeds
following

(2) Carbocation
(4) Carbene

Unimolecular nucleophilic substitution
of optically active substrate mainly gives

(1) Retention of configuration
(2) Racemic product

(3) Inversion of configuration
(4) No product is formed

Which free radical from the following
is most stable ?

Gt
(1) CH,- CH-CH - CH,4

(2) CH,-CH,~-CH-CH;,

o, gHs
(3) CH, - CH- CH - CH-CH,
CH,

| .
(4) CHy;—CH-CH- CH,CH;

Which of the following 1s not an
electrophile ? '

(1) BF, 2) NO,

3G) CH)N @ C

The major product of the following
reaction 18
Alcoholic

CH3—CH2—CH.,—CH—CH~————>?
£ > KOH
Br

(N CH3—CPL_,—CHZ—(EH—CH3

OH

(2) CH,;-CH,-CH,-CH=CH,

(3) CH, - CH,- CH, - CH,~ CH,0H
(4) CH,— CH,— CH = CH - CH,

a



34,

35.

36.

37.

38.

T srEa 2 2

(1) =I-1 (&eT 94g) ded A1 qen
IR BT R |

(2) wHfufsran &1 an Yot Rerrse o
TR T i wigar 1w fnk
HATE |

(3) 3° Uehe BemEs <l § S
AR e E |

4) Syl frframd wmmm: ey
Sifeeh frermarent § gvom Bt § |

S\ il % fore Freffan § &
I 91 gl Bramsier f 7

(1) C¢HsCH (CH,) Br

(2) C4H,C (CH,) (C,Hy) Br

(3) C4H;CH (C,H;) Br

(4) C4H,CH, Br

“Tswett” ¥ ST % g =) feg
TR R fear 7

(1) 3miférs rasivo

(2) mufares famror

(3) emiferes fermror

(4) fares arferegur

AISAA YT &1 BT &
(1) uteftamsiie sgers
(2) wielitATsE Tgeies
(3) iefUER TgeTh
(4) wiefleuTsef sgerh

frafafes & @ o9 @ e
SN ST Segm % v
el g ?

(1) Xy =260nm (2) A =680 nm
(3) Ay =486 nm (4) A =540 nm

i

T e Tat et as ¥ Lbbinrovt TitRtomes s s Ve S 08 Yoot e =

fretferfea =t @ wem s, 1 arfifp & )

34.

35,

36.

£ i

38.

Which' of ' the following statement is
incorrect for Sy 1 reaction ?

(1) Step — I is the slowest and
reversible.
(2) The rate of reaction depends on

concentration of both alkyl halide
and nucleophile.

(3) 3° alkyl halide undergoes Syl
reaction very fast.
4

Sy reactions are generally carried
out in polar protic solvents.

Which one of the following is most
reactive for Sy 1 reaction ?

(1) CgHsCH (CH,) Br

(2) C¢HsC (CHy) (C¢Hy) Br

(3) C¢H,CH (C¢Hy) Br

(4) C¢H;CH, Br

Chromatography principle was
proposed by ‘Tswett’ on the basis of

(1) Relative absorption
(2) Relative distribution
(3) Relative diffusion

(4) Relative adsorption

Nylon threads are made up of
(1) Polyvinyl polymer

(2) Polyamide polymer

(3) Polyester polymer

(4) Polyethylene polymer

Which of the following absorption
maxima is not in the visible region of
the electronic spectrum ?

(1) Anax = 260 nm (2) Mmax = 680 nm
(3) A, =486nm (4) Amax = 340 nm
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ﬂ%n*ﬁ?n—)n*w:ﬂﬂﬁhﬁﬂﬁ
TAT SR 8

(1) regEs

(2) "FH SRA

(3) uwHifeet=

(4) Tl

wWHT % NMR ®aed § fe @
TE gt
1) 1
(3) 4

ffefte iftes w1, 7 HIRC -

max

@) 3
4) 2

(1) 313 nm (2) 303 nm

(3) 293 nm (4) 273 nm

1, 2 SEFARNENT g0 U B 9t
NMR et <6 g &

(1) 3 (2) 4

(3) 5 4) 6

7ot w9 A AR SEeTh B

(1) YTaepiat (2) THAM

(3) defiE 4) ferfa

IR Siwgd 1 fERiie & =1 aae gnft -

(1) 3000 - 2000 cm™!
(2) 1500 —500 cm™!

(3) 4000 —3000 cm™!
(4) 3000 — 1000 cm™!

et wfersiiam 3
(1) FARTHTRIA
2) Thenmshem

(3) StToAFaTEH
(4) gHETEERAR

%

i
i
:

1=}

39,

40.

41.

42,

3) 5

43.

S
=

I
b

Chromophore showing both = — m*

and n — 7©* transition is
(1) Nitrile

(2) Conjugated diene
(3) Acetylenes

(4) Ethylenes

Number of signals in NMR spectra of
Ethanol will be
() 1
(3) 4

©)-3
4) 2

Calculate A, for following compound :

(1) 313 nm
(3) 293 nm

(2) 303 nm
(4) 273 nm

The number of NMR signals produced
by 1, 2-Dichloropropane are '
1 3 2) 4

4) 6

Which one of the following is fully
fluorinated polymer ?

(1) Thiokol (2) Teflon

3) PVC (4) Neoprene

The range of the fingerprint region in
the IR spectrum is

(1) 3000 —2000 cm™!

(2) 1500 —500 cm™!

(3) 4000 —3000 cm™!

(4) 3000 - 1000 cm™!

Bactericidal antibiotic is
(1) Chloramphenicol
(2) Erythromycin

(3) Ofloxacin

(4) Tetracycline
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47.
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50.

fr=faRea 4 @ =k = smgfa wafes
69 % C — H % a1 =Tel b
3TN i YEfia e 8 2

(1) 650900 cm™!

(2) 3000-3100 cm™

(3) 1500 - 1600 cm™!

(4) 1000-1100 cm™

Freffied § & fred sgeieoT @
i s=m S g 2

(1) 1,3-SEi

(2) 2-FR-1,3-FLTSTEA

(3) UshTSEIATEICH

(4) 2-9fyet-1,3 TS

FraTIfies @ # g " § HC/ 8N %
HRU FAR TEEE T gESSH A=A
A1 0.01 mol/L & | 3rmTeifies @ 6

pH grfY -

(1 1 2) 0.01

3) 2 4) 14

freferiea st oo srfuforanati @ B2,

AT ET 2

Fc3+(aq) te = Fez*'(aq) E°=+0.77V
2+ - o _

Zn"*(aq) +2e "= Zng E°=-0.76 V

(1) 0.01V 2) 1.53V

3) -153V (4 230V

a1t Bt & E° % 31 I 6 SR W

(A) A—> At+e, Ef\fA'+=—0.56V

(B) B— B"+e", Egp+=+0.562'V

&l I H1 994 il .

(1) (A) 3R (B) Q1 &) wa: @ & |

(2) (A) 3R (B) ST & wa: I T E |

(3) (A) wa: Ifta & weg (B) 7& |

(4) (A) @a: Jfa 78 ] Ak (B) w=m:
S 2 |

T ke i nd s i m UNRS] W ARt s i o, " T R S T Ao o S ] T 3
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47.

48.

49.

50.

Which of the following frequency
shows C — H out of plane bending
absorption for aromatic ring ?

(1) 650-900 cm™!

(2) 3000-3100 cm™!
(3) 1500~ 1600 cm™!
(4) 1000—1100 cm™!

Neoprene is
polymerisation
following ?

(1) 1, 3-butadiene
(2) 2-chloro-1,3-butadiene
(3) Acrylonitrile
(4) 2-methyl-1,3-butadiene

prepared by
of which of the

The hydrogen ion concentration in our
stomach due to abundant HC/ present
in gastric juice is 0.01 mol/L. The pH
of gastric juice is
(1 1
(3) 2

(2) 0.01
4) 14

What will be E; from following half

cell reactions ?
3 —~ 2 —
Fe¥ oy te = Fe*' ) E°=+0.77V

2 = o—

Zn +(aq)+2e = Zn, E°=-076V
(1) 0.01V 2) 1.53V

(3) -153V

4) 230V

Based on following two values :

(A) A>A"+e, EZa+=-056V

(B) B—>B"+e", Egp+=+0.562 V

Based on E° for two half cells, select

the correct answer.

(1) (A) and (B) are spontaneous.

(2) None of (A) and (B) is spontaneous.

(3) (A) is spontaneous, (B) is not. -

(4) (A) is non-spontaneous but (B) is
spontaneous.

16



S1.

52,

53.

54.
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o 1 B3 faga @ ML w99 %

fyeTe © T WY A TR B AT hio
o7 TR FReT 1T (TTTY] W 63.5) 2

(1) 63.5¢g ) 31.75g

3) 127g 4) 1g
KSICHZCOOH a; HIA Eﬁ- o aﬁ ?:[ﬁ
kog!CI-lZCOONa =224 ohm™! cm?g eq”!

Ko,y = 282 ohm™! cm?g eq”!

Ay = 203.0 ohm™! cm?g eq”!

(1) 59.5 ohm™ cm?g eq”!

(2) 288.5 ohm™' cm’g eq™!
(3) 289.5 ohm™' cm’g eq”!
(4) 388.8 ohm™' cm’g eq”!

372 Ta bR
Aglpg T & == Agy % form

TR foer 3

RT

(1) E=Epgting T F In [Ag"]
RT

(2) E=Epprng —p In [Ag]]

RT
(3) E=Epgnpg — F In[ALT

1
[Ag"]

RT
(4) E=Epgtp, + F 10

srefaRe Same soiage] o e
T SoFIS e Tt g ?

(1) Hq= HaAma

(2) 4.0 M KC/Hame

(3) 2.0 M KCI Hamd

(4) 0.1 M KCI Hamel

e Yo,

51.

52.

53.

54.

What weight of copper (At. mass 63.5)
deposits when 1 Faraday of electricity
is passed through cupric salt solution ?

(1) 635¢ ) 31.75g
(3) 127g 4) lg

% ;
Calculate the value of A CH,COOH if

o0 _ e B
lCJCH2COONa =224 ohm~'cm-geq

Moy —382 ohm~'ecm?g eq™

Aoy =203.0 ohm~lcm?g eq”!

(1) 59.5 ohm~'cm?g eq”!

(2) 288.5 ohm'em’geq”’
(3) 289.5 ohm™'cm’g eq”’
(4) 388.8 ohm~'cm’g eq”!

The electrode potential for the half cell
reaction

Ag' (gt € T Ag()1S
RT
(1) E=Epghy, + F In[Ag7]
RT
(2) B=Epgrpg ~ F I [AE]

RT
(3) E=Euprp, —  In[ACT

RT, |
4) E=Eag'ing T F MAgh]

Among the following Calomal
electrodes, the standard electrode
potential of which electrode would be
highest ?

(1) Sat. Calomel

(2) 4.0 M KCI calomal
(3) 2.0 M KCI/ calomal
(4) 0.1 M KC/ calomal



a8,

56.

57.

58.

fr=fefaa § @ w19 @1 yeeay s

B afe |
2+ = i 3+ _

Z0q)| 20y ==0.762; Cr2% | Cry=~0.740 |
b — . a3t 2+

PHaq| Hyg = 0.00; Fe | Fegl) = 0.770

(1) Zn(s} ) Cr{s)

(3) Hz(g) (4) Fe2+(aq}

S SRR hl B H B woHe H

fererert & gaitan strert 8, @t io frenfig

B e F T W FHERE @ oy 2

Fifh

(1) WRHTY[ 3FHTH Fe < Cu

(2) IR =1 HFH I9==1 g 3
e |

(3) FIR FT IS 9= vy 3w
EETES

(4) A U Fi fagar s wqo
a it 2 |

25 °C M T gl foga-smmen &
foiom 6 7 () 2 x 1092 | af
3BT A2 500 x 107 Sm? mol~! @ a9
IHh! IR TTeTehell [T HIRT |

(1) 10719 Sm2 mol-!

(2) 107 Sm2 mol-!

(3) 1078 Sm2 mol-!

(4) 10~* Sm2 mol™!

MR RS fawe wEm amemewr
fers g=fRm 2
(M Eze11=0.359 log K,

o 0.059
(2) Ecel[ = n log KC
(3) Ece" =0.059n log KC
" log K,
cell = n

(4) E

55.

56.

7

58.

Which out of the following is strongest
reducing agent if

2+ - g B
g | 20 ==0.762; Cr . | Cry =~0.740

+ = ; 3+ 2+ _
2H ()| Hygy = 0.00; Feq | Feon = 0.770
(1) Zn, @) Crg,
(3) Hyy, B B,

When Iron rod is dipped in copper
sulphate solution, éopper is displaced
and it gets deposited on Iron rod
because

(D
(2)

Atomic number of Fe < Cu

The standard reduction potential
of copper is more than iron.

(3) The standard reduction potential
of copper is less than iron.

4)

The iron salt has more solubility
than copper salt.

At 25 °C, the degree of dissociation (o)
of a weak electrolyte is 2 x 109,
Calculate the molar conductance if jts
A2 is 500 x 107* Sm?2 mol!

(1) 10710 Sm2 mol-!
(2) 107 Sm?2 mol™!
(3) 107* Sm? mol-!
(4) 107 Sm? mol-!
Standard electrode potential and
equilibrium constant are related as

o __N
(1) E. = 0.059 log K,

o _ 0.059
@) Ec:eII - n log KC
(3) E_, =0.059nlog K,

o log K,
(4) Ecell - n

16
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60.
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1= € 778 ¥t 1 EMF B
PHH,(P)H* | Hy(P)[Pt

RT P, RT P,

(1) In 2) 2_f!nf>:

f
RT
£ In

3) (4) T 9 B TE

9_2

P,

B

Fraferfea d @ foredl agrdt wredi 2 2

(1) Th §a & 39 FIeAT § gigad
BaTR |

(2)

Tk TS A1 2 |

2NaHCO3(S) — NaZCOHS) +

CO?(g) i HEO(g)

Hy) = 2Hg,

3)

4

I8 ®RF 31 ANlra et ) wanfaa

T

(1) ThaepRs 9 3Idc 61 sifgs
TSR

(2) dqUEE

(3) <€ A

4) Tty e g srfxm saame g
BAE |

sfafspm : 2A + B - C, & @

AH = 100 kJ mol~! 3R

AS =0.05 kJ k”'mol™' 2 | I8 HFA g

6 AH & AS & AF a0 W fk a8

L g a ford a9 W ogw AR

a1 gt ?

(1) 2000 K (2) 500K

(3) 5K (4) 100K
FNfeAfaa el # foraeht dar dier
ATelehd Gar= g} ?

(1) Na* @) Lit

(3) OH- (4) Cr

T A S BT a9 0K A 115K

| 59,

3
3

i
13
H

13

60.

61.

62.

63.

The EMF of the cell given below
PtiH2(Pl)[H+(aq)|l H,(P,)|Pt

Ry, X1 RT .
(1) f lnp2 (2) oF Inpz
P
(3) R—fonp—2 (4) None of these
1

In which of the following the entropy
decreases :

(1) A liquid crystallizes into a solid.

2

Temperature of a crystalline solid
is raised from 0 K to 115 K.

2NaHCO,, — Na,CO,

+
3(s)
€Oy + H,0

3)

(2)
(4) H2(g} K4 2H(g)

The factor that does not influence the
enthalpy of reaction is

M

The physical state of reactants and
products.

()
)
4)

The temperature.
The pressure or volume.

The method by which the final
products are obtained.

For the reaction : 2A + B — C,
AH = 100 kJ mol™!' and AS =
0.05 kJ k~'mol~!. Assuming AH and
AS to be constant over the temperature
range, the temperature at which the
reaction would be at equilibrium is

(1) 2000K (2) 500K

3) 5K (4) 100 K

Among the following ions, the highest
limiting molar conductivity is of

(1) Na* @) Lit
(3) OH- (4) Cr



64.

65.

66.

67.

68.

(1) 9 owaTs

(2) AT

(3) 3EHI ATHAT W

(4) auTee

AGP (kJ mol~!) % &3 T3 7l & ITmEn
W yEEThR fop w3 g TR &l
o fra Frem w7 '

(1) AG°=-100 (2) AG®°=-50
(3) AG®= 0 (4) AG® =+ 100
AffFan 2 Clj,) — Cly, T AH T
AS % for5 &

(1) I FH0TTeHh

(2) I TS

(3) AH RUITcHeh 3TR AS HTcHS
(4) AH &HTeHS 3R AS FUTCHS

frefafea swrEEts adiemn 3

‘ 15
() CeHgpy * 7 Oxg = 6 COxg *

3H,0,; AH = - 3267.7k]
(i) Ci)+ Oygy = COxy3

AH= —393.5kl
(ifi) Hyqgy + % Oy = H,0

AH =—286.2 kJ
(1) 48.1kJ (2) —48.1k]
(3) 2588 kJ (4) —2588 kJ

0y

e fufsra 1 TR g W, AH &1
TUEH % 91 qiead et § |
forees s R 7
(1) AC,
(3) AG

(2) AU
4) AC,

f
1
H
i
¥

(=Y
s

64.

65.

66.

67.

=
@

The molar extinction coefficient of a
substance depends upon

(1) path length
(2) absorbance
(3) its concentration

(4) wavelength

Based on the values of AG® (in kJ
mol™!), identify the system with
highest value of equilibrium constant.
(1) AG°=-100 (2) AG°=-50
3) AG°= 0 (4) AG°=+100

For the reaction

2 Cl{g] —> C"z(g)

AS are

(1) Both negative

(2) Both positive

(3) AH negative and AS positive
(4) AH positive and AS negative

the signs of AH and

From the following thermochemical
equations, the enthalpy of formation of
benzene will be
: 15
() CeHgy * 3 Oz = 6 COyg +
3H,0(; AH = - 3267.7kJ
(i) Cigy+ Oy COyqeys
AH= —-393.5Kk]
(iii) Hyg) + %2 Oyg) H,0;
AH =-286.2 kJ

(1) 48.1kJ (2) —-48.1kJ
(3) 2588kl (4) 2588 kI

The variation of AH of a reaction with
temperature at constant pressure is
equal to which of the following ?

(i)-AC, (2) AU
(3) AG (4) AC,

16



69.

70.

T

2,

73,

16

IR Ag,0 — 2Ag + 1 0, % Ty

freft faffea a9 W AG =1 "m

—10.0 kJ mol™! %,BH?I'I"?T{ﬁ'l:!ﬁﬂf@H

HA P T TR 2

(1) Toear srieamse faufea g faem
T TS ST R |

2) faem 9 s fiee fieat
HlFEEE A |

(3) IrTufsran ar=maET § 2 |

(4) rfuferar 7 & 3w feen & 7 oeRdt

8, 78 uva fewn § S 2 |
fraferfaa o @ fepuehl mre Hier uded
(AFHP) 298 K R I & & ?

(1) Bryy (2) Bry,

) Comrme) (4) Clyy,

TH T & Sge gt § B %
fou o feafa 2

(1) AT=0 (2) Ap=0

(3) q=0 (4) w=0

fafdfes § @ fora wofa faoms =

femten famg foreram g 2

(1) 0.1mBaCl, (2) 0.1 m g
(3) 0.ImNaC/  (4) 0.1 mT[hE
FeCly 919 K,[Fe(CN),] & fsram =tar 3
al e T 3= w2 | AR 0.01 M
FeCl; T 0.1 M K,[Fe(CN),] @I

FFrgurT fyeeft gr = feu fengan
g ferar Sme

A | B

01M I 001M
Ka[Fe(CN)s] | FeCly

SPM

ar et o1 3= B
(1) A®
(2) BH
(3) TATATBH

(4) TAHIEBH

69.. :AG for the reaction

72.

13,

oy
(¥}

Ag,0 = 2Ag + 2 O, at a certain

temperature is found to be —10.0 kJ mol~!.
Which one of the following statement is
correct at this temperature ?

(1) Silver oxide decomposes to give
silver and oxygen.

(2) Silver and oxygen combine to
form silver oxide.

(3) The reaction is in equilibrium.

(4) The reaction can neither occur in
the forward direction nor in the
backward direction.

Standard ~ molar  enthalpies  of

formation (AH°®) at 298 K for which
of the following is not zero ?

(D B"z(g) (2) Brw}

(3) C(graphite) (4) C'fz(g)

For the process to occur under
adiabatic conditions, the correct
condition is

(1) AT=0 (2) Ap=0

(3) q=0 4 w=0

Which of the following aqueous solution
have the lowest freezing point ?
(1) 0.1 mBaC/, (2) 0.1 m Sucrose

(3) 0. mNaC/  (4) 0.1 m Glucose

FeCl/; when reacts with K4 [Fe(CN),]

produce blue colouration. If 0.01 M
FeCl; and 0.1 M K,[Fe(CN),] are

separated by a  semipermeable
membrane as shown in figure

& §_ B
0.1 M : 001M |,
Ka[Fe(CN)] | FeCls
1
SPM
the blue colour will be developed
(1) InA
(2) InB

(3) BothA&B
(4) Neither in A nor in B



74.

76.

7,

78.

ffafaa & & fra frem & R
I R 2

(1) 0.1 M K,Cr,0,

(2) 0.1 M NH,C!

(3) 0.1 M AL(SO,),

(4) 0.1 M BaSO,

S VHEH ! FARI%™ 3 frerman s 2
a1 39 U e S §9dl 8,
ufgrret faerem feamem

(1) T3 & F=m & Hoeass fo=em
(2) TSee o fram @ gareTs foge
(3) T3ee & fram o =1 famem =&
(4) 3T § U €t gfg

NOBr(g)%ﬁ'qfﬂT‘q?TPm'Wﬁfﬁ%
NO,) + Bryg == NOBry,,

RDS

NOBrztg}+ NO(g)—> 2NOBr{g)

NO,, 3 i s 1 Fif 2

i 3 2) 0
3) 1 4) 2

T Y B AT R B Pl
FhTS I ST ST &

(1) L mol™ (2) L mol st
(3) L'mol's? (4) L' mols~!

W wife hit sAfufwrar & g 99.9%

arfufsran oof &9 %1 T 50% f g9
1 RRAT TR 2

(1) 507 (2) 107

(3) ST (4) 2570

i
‘,JE
Ta

|
|
|
|
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5.

76.

77.

78.

Which one of the following solutions
have lowest freezing point ?

(1) 0.1 MK,Cr,0,
(2) 0.1 MNH,CI
(3) 0.1 M AL(SO,),
(4) 0.1 MBaSO,

When acetone is added to chloroform,
hydrogen bond is formed between
them, resultant solution show

(1) Negative deviation from Raoult’s
Law.

Positive deviation from Raoult’s
Law.

2)
(3) No deviation from Raoult’s Law.
4)

Volume shows slight increase.

The mechanism for the formation of
NOBr(g} is

NO(g} + Brz(g} ==X NOBrz(g)

RDS

NOBrz(g) + NO(g)—) 2NOBr{g)

Find the order of reaction with respect
to NO(g)

(1) 3
3 1

2 0
4) 2

The zero order rtate constant is

expressed by the unit
(1) L mol™! (2) L mol!s!
(3). L mol's™!  (4) L' mols~!

For the first order reaction, the time
required for 99.9% completion of
reaction is how many times that
required for 50% completion ?

(1) 50 times (2) 10 times
(3) 5 times (4) 2.5 times

16



79.

80.

81.

82,

83.

16

forelt i o Bramenes & TR
IS 1 G e W TR 7 1, g
BT ] | A3 o Hif s Bl 2
(1) 3 (2) 2

3) 1 4 0

T faemm § fi wes A, B 3k C,
TRF 0.2 Al & a9 3T HieT 3790 7

DItk

(1) 0.2 (2) 0.6

(3) 1 4) 3

T — 1T & — 11 Y gorr w0 3k
e -1 asﬁ 11

A. TEA I

B. 3 2. ﬁrvr

C. 39e3H 3. g4

D. %9 4. FEU

FIS :
A B C D

(1) 1 2 3 4

22 3 4

B3 4 1 2

(4) 4 1 3 2

SR : A + B - Iame 6 e

o T W eI T TR TR § -
[ALM [B],M  Rate [M |
0.1 0.2 4 x 1073
0.2 0.4 3.2 x 1072

afe srfifran o fomm o =k [A],
[B]"2 1 WieW &l &, d B Hife
(n, +n,) T A BT

(1) 2 2) 3

(3) 1 4) 4

wesdl faemm § #iaiet s @5
3TTHR &

(1) I nmdA=H

(2) 1¥1000 nm

(3) 10*nm¥ 10 nm

“)

|
|
|
|
|

TR Et s A Tt iy | im0 ) T8 e TR 1 e TeER et b
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{ 79.

80.

81.

82.

83.

The ty, of a reaction is doubled as the
mmal concentratlon of the reactant is
doubled. What is the order of the
reaction ?

(1) 3 2) 2

3) 1 @ 0

A solution contains three components
A, B and C, 0.2 mole each, then the
sum of their mole fraction is

(1) 0.2 (2) 0.6

3) 1 4) 3

Match List — I and List — II and select

the correct answer using the codes

given below

List — I List — 11
A. Aerosol 1. Butter
B. Gel 2. Froth
C. Emulsion 3. Milk:
D. Foam 4. Fog
Codes :

A B cC D
(1) 1 2 3 4
(2) 2 3 4 1
3) 3 4 1 2
4 4 1 3 2

The rate data for the Kinetics of the
reaction A + B — products are
assembled in table :

[ALM [Bl,M Rate [Ms!]
0.1 0.2 4x103
0.2 0.4 3.2 x 102

If the reaction be obeying rate law
Rate = k [A]"1, [B]"2, find the value of
total order (n, + n,).

(1) 2
(3) 1

(2) 3
@) -4

The size of colloidal
colloidal solution is

(1) lessthan 1 nm

(2) 1to 1000 nm

(3) 10*nmto 10 nm
4) 10°nm

particle in



84.

85.

86.

87.

88.

T YW Hife Hl PR : A - IAG= i 84. - A first order reaction A — product has a

¥ YUYW Hife % A HEdes w1 A
115x 103528 | AR A= 80gH
2.0 g B H FeheT T T 2

(1) 802 (2) 1205s

(3) 601 s (4) 200s

Frfftad § & we7 uf B ], ww=E
(1) T gy

(2) IICH TaH a™

(3) T T SR

(4) T TIH I

farelt ) weFeEe ¥ 91y § I I
T iR g, Ao i frfafed 4 |
e ufafda s & 2

(1) g % gegee A

(2) TSI % HEHES H

(3) TTEGISH % FleTse |

(4) Wi st SR TR §

et a7 B g Tthener fohareht aftor™ & 2

(1) 9 3 Srer AT H HiehcE T
ATZTH T 3T |

(2) Ut 3 SATeRTSH ST HEAT T ST |

(3) T H HrEhCH ToH g Hl FA

 HE

(4) attefie <61 JTehdT % O A H
Parer qun e it gig =0
&M

DDT 8 T&

(1) TEmies

(2) FAaffRElE TgTH
(3) Safrfeita Tgus
4) =i

ERER————————_—EAPEEE R R Gt sl

[y
-]

83.

86.

i 87.

o0
@

first order rate constant 1.15 x 107 s7%.
How long it will take 8.0 g of A to
reduceto 2.0 g?
(1) 802s
(3) 601 s

(2) 1205s
(4) 200

Identify intensive quantity from the
following :

(1) Enthalpy and temperature

(2) Volume and temperature

(3) Enthalpy and volume

(4) Temperature and refractive index

During lightning, the high
temperatures and pressures created in
the air convert nitrogen into which of
the following ?

(1) Hydrides of Nitrogen

(2) Sulphides of Nitrogen

(3) Oxides of Nitrogen

(4) Amino acids and Protein

Eutrophication in waterbodies results
due to
(1) Run off of large quantities of

phosphates and nitrates  into
water.

(2) Increased oxygen content in
water.

(3) Presence of small amount of
phosphates and nitrates in water.

(4) Suppressed growth of algae and
bacteria due to high oxygen in
water.

DDT is a/an

(1) Antibiotic

(2) Non-biodegradable pollutant
(3) Biodegradable pollutant

(4) All of these

16
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90.

91.

92.

93.

94,

95.

16

The BHe 1 FER I VWS B
ERUE

(1) Taferest

(2) U

(3) THSRE TG

(4) U 3G

e 3 & B a1 tRreran fa e 2 7
(1) whifcegrss

(2) S TR

(3) =

(4) S

TR T fhEe HROT BT 8 ?

(1) NO, @80,

(2) NO, W CFC

(3) 0,,NO,_ W CFC

(4) NO,, O,, FHiceeIss, R3tlee-
UeHTEee (PAN)

frfafed & @ 3w y-vdeefta a

fova gt 2

(1) N,O (2) CH,

(3) CFC 4 Co,

STl 1 ATl HaRar frefaRes O A
T suferfg a2 9

(1) CaSO, (2) Ca(HCO,),
(3) CaCl, (4) MgCl,

frafaflga © @ 5. a1 sfoATsERRY
BT 2 ?

(1) Hefem ) e

(3) feiea (4) BF<TRAR
Hugi i faofer o o frferfea & @
TerurehT ST U B WA ST R 7
(1) ccl, (2) ==

(3) sf@co, (4) ClL,C=CCl,

T S TS SR . bt e MRS Vbt e oS TP usmem

19
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90.

91.

92.

93,

94.

95.

"White lung cancer or asbestosis is

caused by
(1) Silica
(2) Paper
(3) Asbestos fibers
(4) Sugar products

Which of the following is greenest
solvent ?

(1) Formaldehyde

(2) Benzyl chloride

(3) Benzene

(4) Water

Photochemical smog is due to
(1) NO, and SO,

(2) NO, and CFCs

(3) O3, NO, and CFCs

(4) NO,, O,, Formaldehyde, peroxy
acylnitrates (PAN)

The maximum global warming
potential among the following is of
(I) N,O (2) CH,

(3) CFC 4) co,

Temporary hardness of water is due to
presence of which of the following ?

(1) CaSO, (2) Ca(HCO,),
(3) CaCl, (4) MgCl,

Which of the following is organo-
phosphorus pesticide ?

(1) Malathion (2) Aldrin

(3) Lindane (4) Heptachlor

Use of which of the following for dry
cleaning of clothes is a use of green
chemistry ?

(1) CCiy (2) Benzene

(3) Liquified CO, (4) CLC=CCL,



96.

97.

98.

99.

100.

101.

&I FEIeH & n = 3 ¥ Helltd Hol

&R sh! TEAT fehaH! g1t 2
(1) 3 () 6
3) 9 4) 18

frefafea & @ forah sowi afsr
et Jrfirene SRUMTCH 8 2
(1) P ) S
) ¢ (4) F

Frefafaa & & &9 @1 71 AR
iR 3 B & ferg adt Adi @ 7

(1)  Had g1 =0T |

(2) v gt g =tee |

(3) y & A HH EH 1T |

+o0

(4) fqﬂdxdydz= L.

-0

AN H1 Soagieh forama 3d%4s2 %

T T 3d34s! & FIfH

(1) 3d e 4s h o1 § Io9 HaAl W
2

(2) 3d%4s! T g ofg P e @ |

(3) SHI 3d T 4s Heehi Sl Ho1 THH 3 |

(4) 4s® Fegh fomma 1 wnfie *u
2

frfaftad § wom A Sl 1 H@&
EI-TIT%:

(1) C>N>0>F (2) O>N>F>C
(3) O>F>N>C (4 F>N>0>C

] = 5 % foTQ eTehl 1 oI TET &
(1) 13 @) 17
3) 9 4) 11

| 96.

|
|
|
|
|
|
I
|
|
|
|
|
|
|
!
|
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97.

99,

100.

101.

What is the total number of orbitals
associated with the principal quantum
numbern=3?
(1) 3
3) 9

(2) 6
(4) 18

Which of the following have the most
negative electron gain enthalpy ?

(1) P @2) S
(3) CI (4) F

Which of the following properties is
incorrect for the solutions to the
Schrodinger wave equation ?

(1) w must be continuous.
(2) w must be finite.
(3) y must have three values.

+o0
@ [ y?dxdydz=1.
—C)
The electronic  configuration of

Chromium is 3d%4s! rather than 3d%4s?
because

(1
()

3d orbital is at higher energy than 4s.

3d%4s! is stable half filled
configuration.

Both 3d and 4s orbitals have same
energy.

3

4s? orbital ‘configuration has low
stability.

4

The correct order for first ionisation
energy among the following is

(1) C>N>0>F 2) O>N>F>C
(3) O>F>N>C (4) F>N>0>C

Total number of orbitals for / = 5 are
(1) 13 2) 17
3) 9 4 11

16



102.

103.

104.

105.

106.

107.

16

(3) 15

“fordlt womy F Suflr @ sererl 6
TR FaTen HEATd e et 8 gwdt
2 1”718 e Praffed 3§ @ fraar 22
(1) ar3eft 3rvesH g

(2) B TRrhad sgehar &1 fram
(3) ATwaTS fremy

4) (n+ ) Frm

37 Tl it v, e R (n + ),
1 AN 919§ B B, FeT Herh! BT T
g

() 13 (2) 18
4) 10

FICH G | = 4 TR ot 2
(1) d-w& (2) f-hes
(3) g-heTh (4) h-%F

fertferie o & wefoaes wemi 6t Tedd
T S A A BT AR 0
(1) 3s<3d<4s<4p<4d
(2) Is<2p<3s<2s<3d
(3) Is<2s<2p<3s<3p
(4) 1s<2s<3s<2p<3d

T T % e waet 4 9
Taifyes Y B AT 9

(1) ns (2) np
(3) nd (4) nf

Pt s s, R ge &
Sgehdl o Y wrer T S i R
OREERENEN N

OREERENENEN
oNEIRERENEN
@[] AT T]

TR L SRS e} i o A S, i s ettt

T S

e T L E—
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103.

() 13

i 104.

105.

106.

107.

. “No two electrons in an atom can have

the same set of four quantum

numbers” is the statement of which of

the following ?

(1) Pauli Exclusion Principle

(2) Hund’s rule of maximum
multiplicity

(3) Aufbau Principle

(4) (n+Drule

In all energy sublevels for which sum
of (n + /) is less than 5, the total
number of orbitals is

(2) 18

(3) 15 (4) 10

The quantum number / = 4 refers to
(1) d-orbital (2) f-orbital
(3) g-orbital (4) h-orbital

Which of the following is correct order
of increasing energy of atomic orbitals ?
(1) 3s<3d<ds<dp<4d
(2) 1s<2p<3s<2s<3d
(3) 1s<2s<2p<3s<3p
(4) 1s<2s<3s<2p<3d

Which of the following orbitals in an
atom is most penetrating ?

(1) ns (2) np
(3) nd (4) nf

The orbital diagram in which the
Hund’s rule of Maximum Multiplicity
is violated, is

o] AT ]
@ 1] [ ]tT7]
ORI ENENEN
@ 4] [T [7]




108.

109.

110.

111.

112.

113.

114.

Sifery % TaieeRdl BN o gorde <l
T W& (n, [, m, §) 8

() 2,1,-1,-12 (2) 3,0,0,+172
3) 3,2,-2,~12 (4) 3,2,2,+1/2

qﬁ@ﬁ'—r(PHs)aa%mﬁammmm
87

(1) 3oh T e ASE SHI g |
(2) e ST ) ger H HH i § |
(3) ek ava frfdh 2 |

(4) TE ST e TR R |

B,H, & fFreferfaa dem # (3¢ _2e) Y
ER
(1) 2

) 3
(3) 4 (4) 6
Srferfiaa 3 4 @9 sifean i 2 2
(1) CH, (2) NH,
(3) H,O (4) HF

g @ smitEn H sl @
Brfafag § @S9 91 3AE IS A&
BT

(1) (BN),
(3) B;N;H

(2) B,H, - 2NH,
(4) B,H, - NH;

frerfafaa fra sepe | 1 I0EM
T ST % w9 feRaT ST 2
(1) sd He (2) 39 Ne

(3) & Ar (4) zd Xe

Sl % fre ifees o § @R @@
firafira gfg 3t gra 78 g1 8 ?

(1) 3T T

(2) FeeH afey Tl

(3) Torea sBoTeRRAT

(4) e freemd

SE———L

l 110.

108.

109.

111,

112.

113.

 (3) Liquid Ar

114.

The valence shell electron of sodium’
has the quantum numbers (n, /, m, s)

(1) 2,1,-1,-12 (2) 3,0,0,+1/2
(3) 3,2,-2,-1/2 (4) 3,2, 2, 12

Which is incorrect for

phosphene (PH;) ?

(1) It has an odour of Rotten fish.
(2) Itis less basic than NH;.

statement

(3) It has pyramidal structure.
(4) 1t does not possess reducing

property.
B,H, has following number of
(3¢ —2e) bond :
(N 2 2) 3
(3) 4

4) 6

Which of the following is most acidic ?
(1) CH, (2) NH;4
(3) H,0 (4) HF

Diborane and Ammonia on reaction
does not give which of the following
products ?

(1) (BN),
(3) B;N;Hg

(2) B,H, - 2NH,
(4) B,H, - NH,

Which of the following noble gas is
used as cryogenic agent ?

(1) Liquid He (2) Liquid Ne
(4) Liquid Xe

Halogens do not follow a continuous
and regular increase or decrease in the
physical property :

(1) lonization enthalpy

(2) Electron gain enthalpy

(3) Electronegativity

(4) lonic Radii
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115.

116.

117.

118.

119.

120.

16

& SHheshior, e gaifies smoey 2

(1) o (2) S

(3) Se (4) Te

=1 6T g H IReE i St
(1) 92| (2) afere 2 |

(3) w9HE | (4) 3 9 &IE T8
TG IRA [XeO, ]+ #i srfaieror
3TETEAT, HHT ST Ty oIl Bt

(1) +6, sp>d?, arfagactig
(2) +8, sp’d?, ITHART
(3) +7, sp3d>, =t foriferdiy
(4) +8, d%sp?, ITTHTHT

Xe T HhoT JrawT & wed § gft — |

ﬁ%ﬁﬁ—l[@[ﬁﬁ@q:

T -1 et -11
[ XeO, a. sp3d2gept
Il XeF, b. spd Geptur
III. XeOF, c. sp3d> Hehtur
IV. XeF, d. sp? €T
HIE :

| I 1 v

(1) a & d b
@d b a ¢
B)d ¢ a b
4) b a c d
3o 1 frfefaa s @1 srwmss
Tt T R 2
(I) N,O (2) N,O,
3) N’O2 4 N205
HX &l pKa =aw, 2
(1) HF ) HCI
(3) HBr (4) HI

| 115. The chalcogen having highest number

|
|
|
5
g
!
|
|
|
|
|
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116.

117.

| 118.

119.

120.

of allotropes is

(1) O 2 S

(3) Se (4) Te

The reactivity of Borazine as
compared to Benzene is

(1) less (2) more

(3) equal (4) None of these

Oxidiation state, hybridization state
and geometry of perxenate ion
[XeO]* is

(1) +6, sp’d?, square planar

(2) +8, sp°d?, octahedral

(3) +7, sp’d?, square pyramidal

(4) -8, d’sp?, octahedral

Match the List — I with List — II with
respect to hybridisation of Xe.

List—1 List — I1

. XeO, a. sp>d? hybridisation
II. XeF, b. spd hybridisation
lll. XeOF,  c¢. spd? hybridisation
IV. XeF, d. sp3 hybridisation
Codes :

I I 1 1v
(1) a g d b
@d b a <
3) d c a b
(4) b a c d

Which of the following oxide of
nitrogen is not acidic ?

(1) N,O (2) N,O,
(3) NO, (4) N,O,
HX, which has lowest pKa, is
(1) HF (2) HCI
(3) HBr (4) HI
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